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QUESTION 1

What must be in place for the support of index compression? 

A. User defined algorithm. 

B. Compression dictionary. 

C. Table space compression. 

D. Page size larger than 4K. 

Correct Answer: D 

 

QUESTION 2

Your table space DB1.TS1 is currently index-partitioned. Which steps should be performed at a minimum to make it a
partitioned-by-range table space? 

A. Issue ALTER TABLESPACE with a valid SEGSIZE > 0 

B. Make the table space table-partitioned, then issue ALTER TABLESPACE with a valid SEGSIZE > 0 

C. Drop the partitioning index, ALTER the table definition by adding partition ranges to the existing table definition, then
issue ALTER TABLESPACE with a valid SEGSIZE > 0 

D. Drop the partitioning index, ALTER the table definition by adding partition ranges to the existing table definition,
create a partitioned index and issue ALTER TABLESPACE with a valid SEGSIZE > 0 

Correct Answer: B 

 

 

QUESTION 3

If SEGSIZE 64 and MAXPARTITIONS 10 are specified in a CREATE TABLESPACE statement, what type of table
space is created? 

A. LOB table space. 

B. Segmented table space. 

C. Range-partitioned table space. 

D. Partition-by-growth table space. 

Correct Answer: D 

 

QUESTION 4
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When a table space defined as both partitioned-by-growth (PBG) and MEMBER CLUSTER YES is altered to MEMBER
CLUSTER NO by the ALTER TABLESPACE command. Which statement is correct? 

A. DB2 does not allow the command. 

B. DB2 applies the changes immediately. 

C. DB2 allows the command only if the table is empty. 

D. DB2 places the table space in AREOR (Advisory Reorg). 

Correct Answer: D 

 

QUESTION 5

How do you enable parallelism in a dynamic SQL statement? 

A. BIND with DEGREE(1) 

B. BIND with DEGREE(ANY) 

C. Use SET CURRENT DEGREE = ANY 

D. Use SET CURRENT DEGREE = \\'1\\' 

Correct Answer: C 
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